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General Studies Model Questions - 2
Who has developed and demonstrated the first nuclear reactor in the year 1942?
(A) Bhor and Wheeler (B) Enrico Fermi
(C) Albert Einstein (D) Bhor and Mottleson
Ans - (B) Enrico Fermi
194210 oyemngsd (LPH6T (IPHEVTH g 2_MEVMUI HMDHH QFUIOLIGHS BT IguiedT Wimr?
(A) Gunm wBmib efeoT (B) sretmfi@am .".QuITLA
(C) ayeouim’ gederotesst (D) Gunit oBmib Guom L o6
Ans - (B) stenf@amm .".Gumo
The First ionization potential of Na, Mg, Al and Si are in the order
(A) Na > Mg > Al > Si (B) Si > Al > Mg > Na
(C)Na<Al<Mg<Si (D) Si > Mg > Al >Na
Ans - (C) Na< Al<Mg<Si
Na, Mg, Al wimio Si BeuBilesn WHsd SwelwresssHHBer BRbs aiflnaulsd emaBE?
(A) Na > Mg > Al > Si (B) Si > Al > Mg > Na
(C)Na<Al<Mg<Si (D) Si > Mg > Al > Na
Ans - (C) Na < Al < Mg < Si

In the given reaction, which one is conjugate acid of acetate ion?

CH5;COOH + H,O H20+ + CH;COO’
(A) HO" (B) CHsCOOH
(C) H.0 (D) Both H3O+ and CH;COOH

Ans - (B) CH;COOH

CaThHHBIUL(Beien Gougy allewenuisy, oiFl G Sweflulesr Eemewr Siblevld 61g17?

CH3COOH + H,0 H,0" + CH;COO
(A) HyO* (B) CH;COOH
(C) H,0 (D) H;O0" and CH;COOH

Ans - (B) CH;COOH
Give an example for Non-Renewable Energy

(A) Wind (B) Fossil fuels or coal (C) Solar (D) Water

1 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

Ans - (B) Fossil fuels or coal

UBILITSSSHTH UBBOIBES 6 (IGSDISSTG HHS.

(A) 1Bl (B) emQuT@®el Sisvevd STl

(C) @i ge (D) i

(B) Ans - (B) srflQum@mel 16060851 STl

Which one of the following is a common respiratory substrate in plants?

(A) Proteins  (B) Lipids (C) Carbohydrates (D) Fatty acids

Ans - (C) Carbohydrates

LsiTeumeauseuBumIeT STaujmibeilsn GUTHINTe FeuTFdh &Henll GUTmenTaugk wirg?
(A) Uy smIseiT (B) e919® s6it

(C) sriGurenamt BB ssit (D) Garagiiny siudevmise

Ans - (C) sritGumsnamst GyBassit

Which organ or gland of the human body is secreting Insulin?

(A) Thyroid (B) Adrenal (C) Pancreas (D) Liver
Ans - (C) Pancreas

Beiigelsn ellHevenn 6l 2 L6d 2 min] Sievevdl FIUNwledmbs &rssLLBGEBHI?
(A) sngymui® (B) o1 famev  (C) sememruiid (D) mismyuiyev
Ans - (C) senemiuiid

Plasmids that carry genes coding for colicins.

(A) Fertility plasmids (B) Resistance plasmids

(C) Col plasmid (D) Virulence plasmid

Ans - (C) Col plasmid

Cameddfletr 2 mouTdeEbHamigul 8361 QHTGUILTenen GETewIL  L1emTervLill &6l

(A) smeuen Lenmerot_sei [/ GQLimgedly LAenmerotiL_aeit

(B) er&diriiy / Qrerderv@Lsiterd LemmervLil el

(C) Gamsv LlemmervLaL_ameit

(D) asvasieny | pFaGHaieno LNemmervLil_ el

Ans - (C) Gasmev LlenmerviilL_aeit

In the memory of which person, recently the Government of Maharashtra expressed its interest in
buying a house in London?
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(A) Mahatma Gandhi (B) Motilal Nehru
(C) Jawaharlal Nehru (D) B.R. Ambedkar
Ans - (D) B.R. Ambedkar

WT@eDLW  HleneelBars, iemenoulsd LOSTITORMYT DiJd, 6VNIL &G0 o 6iTen  @(H 6l _6»L
aIMhIE H6il lBlLLSmS OFHMelsHsHa?

(A) wa&rHion &rhd) (B) Gurgleomsy G
(C) mgsuanmiteorsd GmB(H (D) B.R. @108ugsi

Ans - (D) B.R. ouoBugbasit

9. Who among the following is not a recipient of the Kirti Chakra Award of 2015?
(A) Captain Jaidev (B) Subedar Ajay Vardhan
(C) Major Vamshi Krishnan (D) Subedar Bahadur Gurung
Ans - (C) Major Vamshi Krishnan
SpsTemuBUaBlesy, 2015 Samerm “@iha Foapr’ el@mend GUBTHeuT wWimT?
(A) Barl. GeguiBHs6h (B) 56u. o suirgheit
(C) Gw. eubardl & meargemnie (D) &6u. ueB&ETT @M
Ans - (C) Gw. ayibadl & mergemie
10. Which of the following Articles have been in Part IV of the constitution through 42™
Amendment?
(A) Art. 39 A, Art 43 A (B) Clause (2) in Article 38
(C) Article 37 A, Article 43 A (D) Article 31 C, Article 37 A
Ans - (C) Article 37 A, Article 43 A
Ueiaud  61bd  eldlae  sipfwevsnoliien u@g V-0 42-615 HmdHd FLLHH6T  wpsold
GairdbalLl L g)?
(A) a8, 39-A, wpmip 43-A (B) eflg) 38-60 o_r19fey (2)
(C) el 37-A, wibmip 43-A (D) o0& 31 C, wimip 37 A
Ans - (C) elg) 37-A, g 43-A
11. Who has announced that the House of people would thereafter be known as “Loksabha” on 14

May 1954?
(A) G.V. Mavlankar (B) Dr.S.Radhakrishnan
(C) Dr.Rajendra Prasad (D) Dr.B.R.Ambedkar
Ans - (A) G.V. Mavlankar
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12.

13.

14.

15.

14 G wrHd 1954-0 PeWiB dhBemenel EefiBoed “GoorhbFun” sleim DeNPEBLILIBLD  6T6IN)
gnplwieu wimir?

(A) 28.e0. meleLmIGT (B) LrsLi. S.@umsHmdmegeutet

(C) LrsLir.@yrémpdy 1ysns (D) s B.R. oipGugasit

Ans - (A) 29.60. LoT6lIEURIGT

The words ‘Sathyameva Jayate’ in the National Emblem of India have been adopted from
(A) Maitreyi Upanishad (B) Mundaka Upanishad

(C) Mudgala Upanishad (D) Brahma Upanishad

Ans - (B) Mundaka Upanishad

@bHw  CxrFw  HeiiewbdHed  LWTLBHSHILL Beiten  ‘FHWEWe OBk’ el QFTBEeENT
RIS HHSH GQUBLILIL (BeiTermer?

(A) wsHCrul 2 LPL HId (B) apewis 2 Ll Hib

(C) wssev 2 _uPLHid (D) gp 2 LPLHID

Ans - (B) wewis o _uBlHid

The annual average rate of growth of population during 2001-11 in India is

(A) 1.31 % (B) 1.93% (C) 1.64% (D) 2.1%
Ans - (C) 1.64%

@bgHwmalsd 2001-11 &mev &L L HH60 1&HH6T OHTend FIrafl 6wl ouenTFS eldlHd --------
(A) 1.31 % (B) 1.93% (C) 1.64% (D) 2.1%
Ans - (C) 1.64%

Asvamedha yaga means

(A) Elephant Sacrifice (B) Human Sacrifice

(C) Horse Sacrifice (D) Lion Sacrifice

Ans - (C) Horse Sacrifice

SIeaIGLLS WITHLD 616G

(A) wrenenr LIUIBH60 (B) mrusiulGseo

(C) sgmrenw LeUIGSH6D (C) tusHms LedulGsHe0

Ans - (C) gdeogenwt LIeAuIBaH6d

Polar zone Extends between

(A) 66 and 100 (B) 60 and 180
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(C) 50 and 180 (D) 60 and 90
Ans - (D) 60 and 90
ST OGN 60HEN6H LITaI6D
(A) 66 wimio 100 (B) 60 opmib180
(C) 50 wpm> 180 (D) 60 wimo 90
Ans - (D) 60 wimpip 90
16. Who named the crust, mantle and core as SIAL SIMA and NIFE respectively?
(A) Kepler (B) Ptolemy
(C) Suess (D) Columbus
Ans - (C) Suess

el GoBeur(h, Seusd MWD SmHeud (WempCw  HAwimsd, Hom BWID ewBL eTenr QLWL 6uiT
wimir?

(A) GaLieir (B) smevif (C) @werd (D) GamevibLierd
Ans - (C) @uwerd

17. Which of the following year was noted as one of the worst drought in the last hundred years?
(A) 2002 (B) 2004 (C) 2006 (D) 2010
Ans - (A) 2002

BLbH BB UWIBH6I60 WHa D Gorsorer aupl & e 1é GBIUILLUC L& 6187

(A) 2002 (B) 2004 (C) 2006 (D) 2010
Ans - (A) 2002
18. Which one of the following is not one of the Tri-ratna of Jainism?
(A) Right Faith (B) Right knowledge
(C) Right action (D) Right effort

Ans - (D) Right effort
FID6WI FIOWISHIHGH (PSIBI THHQMBIBMNE 2 I LI THH! 6187
(A) BeitenbLlbeme (B) msvb oy
(C) pevienHema (D) movev puwiie
Ans - (D) pevev (pwiizd
19. Kalinga war of Asoka and the propagation of Buddhism was mentioned in Asoka’s inscription in

(A) 6" Rock Edict (B) 13" Rock Edict
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20.

21.

(C) 8" Rock Edict (D) Bhabru Rock Edict
Ans - (B) 13" Rock Edict

SIBarargk H6e0mIENCUTT UBPWD ST UsHHossHmaeb LIl GuoBbarswi GQFuwsvamer Lmsiub
GBRIIBID He06eI B

(A) 66ug uTenBE H6LEGIL (B (B)13 cug umenmd H6066UL B
(C) 8 auml uTeBE HeLOIL B (D) urym urenms HELGIOU B
Ans - (B)13 aum umenpd H6066u (B

Who established tattavabodhini sabha for philosophical and religious discussion and started
tattavabodhini patrika propagate Brahmoism

(A) Ram Mohan Roy (B) Raj Narayan Bose
(C) Debedranath Tagore (D) Keshab Chandra Sen
Ans - (C) Debedranath Tagore

HHHN Curded Fenusnwl BHuiel, HNEH HHHO CuUTHeN USHMSET dpeod LIFIDLIUTFSH a6
FLOWILD LOBBID SHHHIUTTHS Hleneodensn UFLLIW6UT

(A) gmb Guomesesr Ul (B) grey mrgmuwies Guimerd
(C) BxBUBATBTSH HTanT (D) Gssu ghsy OFem
Ans - (C) CxBUBATBTES HTgai

Which of the following are correctly matched ?

I. Hero of Vaikom - E.V.Ramasamy
Il. Self — Respect Movement - T.M.Nair
I11. Dravida Kazhagam - Salem Conference

IV. South Indian Liberal Federation Justice party

(A) 1 and Il are correct (B) 11 and 1V are correct
(C) I and 111 are correct (D) I, Il and IV are correct
Ans - (D) I, lll and IV are correct

SIpSIHENTOIBMIET sTemed FRuwImed CQUITHHIHUl6Terng?

l. ameUBHLID G - .Gl gL
Il. Gwoflwrend Suibsid - 19.6TLD. [HTUIT
I1. Hymell  &HIPHID - Bg6ulD OTHTH
AVA Opaefibdul eN{BHmev Fnl L 6HIOLIL] - BB HHL
(A) | oigio 1 &M (B) Hl wiun 1V g

(©) I wpgup 1 &M D) 1, Ul wip 1V &
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22.

India

India

India

LS

23.

24.

Ans - (D) I, 1 wipio 1V

Avrticle 148 of the Indian Constitution says that

(A) The Comptroller and auditor General of India is to be appointed by the President of India
(B) The Comptroller and Auditor General of India is to be appointed by the Prime Minister of

(C) The Comptroller and Auditor General of India is to be appointed by the Chief Election
Commissioner of India.

(D) The comptroller and Auditor General of India is to be appointed by the Vice President of

Ans - (A) The Comptroller and auditor General of India is to be appointed by the President of

@b siyflwsvenioliien 148 eugl 6ld aueluBISHHINISI.

(A) smevenio BBID Hellbmes sHemi @bHul MeITEHUSWTEd Buiosid QFILIIILGaIS]

(B) memevemio oBmid Henlbensd siHarh @bsHul 1IFsopmed Bulsrd CFuwiLGeg Umns

(C) momsvemin BEID Hewlbmes AHeTH BHHul Hmevenid CHTHE PENETUWITTED  BIUILDEIILD
CFuiwu@eug LmS

(D) soevemio  LBEHID  HoEmes  oHsrl  @bHU  HEve-LETEHUSWTED  BImed
Ceuwtiu@Geugl umS

Ans - (A) somevmo BB  Salldms SHeTN  @bHw  meITHuBwTed  Hued
Ceuiwtiu@Geugl umS

The fourth proclamation of emergency under Article 352 was made in

(A) 1962 (B) 1965 (C) 1971 (D) 1975
Ans - (D) 1975

352 sugl eNFHuledr Lilg BITETH eUF] Bewsv LIFHELD 6ubdH U6ui(H
(A) 1962 (B) 1965 (C) 1971 (D) 1975
Ans - (D) 1975

The protection of human rights act passed in

(A) 1992 (B) 1993 (C) 1994 (D) 1995
Ans - (B) 1993

wellg o Mfenip uTHISTILEF FU LD BlenmGaummli L oew®

(A) 1992 (B) 1993 (C) 1994 (D) 1995
Ans - (B) 1993
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25.

26.

217.

28.

Three new states Jharkhand, Uttaranchal and Chhatisgarh were created in the year
(A) 2000 (B) 2001 (C) 2002 (D) 2003
Ans - (A) 2000

MTTHEWIL, 2_HHIMTehF60 LOBBID FL le6W0BT Bl Pyl LSl DTHEVRIBET 2 (HeuTaBLILIL L
A6 (H

(A) 2000 (B) 2001 (C) 2002 (D) 2003
Ans - (A) 2000

Article 243 D of the Indian Constitution deals with the

(A) Fixed tenure for panchayat bodies

(B) Reservation of seats for SC/ST and women in panchayats

(C) Powers to impose taxes

(D) Composition of the panchayat

Ans - (B) Reservation of seats for SC/ST and women in panchayats

@b sipfwsnwliiier 243 D ald auslupibaieols

(A) ughamwsa Siemwliler usel STeolD BiTewTuD

(B) ughemwigalso SC/IST auglilen oBmid OUeisEhbBT B @EIbS. G (Lpens
(C) ol oUGHEIBGID HNFHBMTID

(D) ughamudbder SienioLiL

Ans - (B) ughamugalso SCIST suginienit wBmid OUewiaEhssTen QL @HIBSL G (Lpens
The right to Information Act, 2005 came into force on

(A) 11" October 2005 (B) 12" October 2005

(C) 13™ October 2005 (D) 14" October 2005

Ans - (B) 12" October 2005

2005 10 syemteml U1l HEeusv o _MewioF FULID HeOL (LPOBHG aIbHSHI.

(A) 11 o4&6Lmuir 2005 (B) 12 =186 muir 2005

(C) 13 &&BLmur 2005 (D) 14 2486muir 2005

Ans - (B) 12 oi86Lmuir 2005

The Administrative Vigilance Division was established in

(A) August 1955 (B) September 1955

(C) October 1955 (D) November 1955
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29.

30.

31.

32.

Ans - (A) August 1955

Piteurs semismsnill] fe] gBUuGHSLILLL HeTH

(A) symeror. 1955 (B) Gaii_buir 1955

(C) &1sBLmuir 1955 (D) meutbLiir 1955

Ans - (A) eymerol. 1955

Which one is not a factor influencing population?

(A) Birth rate (B) Death rate

(C) Migration (D) Poverty

Ans - (D) Poverty

LN6STaUBLIOISIST 61&HI DHEB6T CHTmHMUI STIOTNEGID HTyeni Di60607?
(A) Upiy eigib (B) @iy aigd

(C) @LuQuwITFA (D) sugiemtio

Ans - (D) sugiemio

When was the scheme Prathan Mantri Jeevan Jyothi Bima Yojana was started?
(A) July 9, 2014 (B) June 6, 2014

(C) May 9, 2015 (D) Aug 2, 2015

Ans - (C) May 9, 2015

Ugsmer hHT 23ausi Gmrgs) Liiom Guimegenm sl6eliB &SI LD 6TGUITEI SHleumislu L g7
(A) egeemev 9, 2014 (B) 8ot 6, 2014

(C) B 9, 2015 (D) symoror. 2, 2015

Ans - (C) B 9, 2015

The term “HRIDAY” relates to

(A) Urban development (B) Farmer development

(C) Educational development (D) Poverty Eradication

Ans - (A) Urban development

“HRIDAY” 16t Glgmed elensdd @GnflbBmal?

(A) sy Guowur® (B) efleugmud Guowbur®

(C) ®evel Gobun(® (D) eumgiewio @il

Ans - (A) psy Guobur®

Which energies are supposed to be free and command no price?
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(A) Commercial energy (B) Non-Commercial energy

(©)

Both (A) + (B) (D) Coal, and lignite

Ans - (B) Non-Commercial energy

Qeuppllsv 61bgH eTflFss) QeveugFionedl WLBBID 6lene0 HYUHHHD HEV6OTHEH! 6T6iHl

BOSILGBBSHI?
(A) suenllw erfllFas) (B) suemiasiosveons erflgdss)
(C) (A) + (B) @yemiBibd (D) Blevdasfl wbpid Lepiy Hlevésai
Ans - (B) suenfllsiosvsons  erflgds s
33. The Vernacular Press act was passed by ------------ during the year -----------------
(A) Lord Northbrooke - 1873
(B) Lord Elgin - 1876
© Lord Mayo - 1877
(D) Lord Lytton - 1878
Ans - (D) Lord Lytton - 1878
STITY uSHAHBF FLL HEF --------- D 6B OBT6WIH UHFHOUT -----m-rm-emm-
(A) BITSLhe LTy - 1873
(B)  ersvoedeir Ly - 1876
© GoGuir gy - 1877
(D) eIl e Ly - 1878
Ans - (D) eI Led LAy - 1878
34. Who was the last Mughal Emperor of India?
(A) Alamgir — 11 (B) Bahadursha — Il
(C) Shah Alam -1l (D) Jahander Shah
Ans - (B) Bahadursha — Il
@bgHuwimelsy Guomssomwitl Guygdlesr semL & SiFFT wimir?
(A) SremiLmbd eye0DasT (B) @yewiLmb LSS Gm
(C) @yeiiLmb agraL6e0ld (D) Omshsit agr
Ans - (B) @rewiLid LSS GpT
35. Mahatma Gandhi was murdered on
(A) 30" January 1949 (B) 20" January 1948
10 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

36.

37.

38.

39.

(C) 30" January 1948 (D) 30™ August 1948
Ans - (C) 30" January 1948

LDBTHIOM  HTH GlBTEL6VILIL L [HT6IT

(A) mereufl 30, 1949 (B) egemeul 208 1948
(C) egemmeud 30, 1948 (D) aymeror. 30, 1948
Ans - (C) seoreufl 30, 1948

Direct Action Day was observed by the Muslim League on

(A) 15" August 1945 (B) 26™ August 1946
(C) 16" August 1946 (D) 16™ September 1946
Ans - (C) 16™ August 1946

(peroslld 696 GBIy BLOIGHMS Henhend HwL Llghs b6l
(A) spmoror. 15, 1945 (B) exmoror. 26, 1946

(C) aumearol. 16, 1946 (D) Gaiiibui 16, 1946

Ans - (C) symeror. 16, 1946

In a group of cows and hens, the number of legs are 14 more than twice the number of heads. The
number of cows is

(A)5 B)7 (©) 10 (D) 12
Ans - (B) 7

261 BLHIHO Gl LIOTE 2 6iem UG WBBID CasmisenmLul SIewiB LDLHIG Hene0H6IMed
cTentenllbendenll ol euBpledt  HTeLH6il6  eTelicnfldbend 14 DHHIOTS 2 6iT6NH 6163160
QTHHID THHMeN LiF 2 _6iTengl?

(A)5 (B) 7 (C) 10 (D) 12

Ans - (B) 7

The sum of the two numbers is 40 and their difference is 4. The ratio of the numbers is
(A) 119 (B) 10: 7 (C) 20:12 (D) 11:12
Ans - (A) 11:9

Qwm sleviidellan FnbHev 40, SeuBpsleit Coupim® 4 erafled, SisuGleusHIH6M6 6llaIFHLD
(A) 119 (B) 10: 7 (C) 20:12 (D) 11:12
Ans - (A) 11:90

Ram starts from a point A and walks 6 km North, then turns left and walks 8 km, then turns left
and walks 12 km upto the point B. what is the direction of Ram?
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40.

41.

42.

43.

(A) North (B) South (C) East (D) West
Ans - (B) South

A aietip Lsiteflulsd @mhHI JmD el S@GUUSH0TE 6 .16 BLbSH N6 BL&H USHOTE HHDL
8 AiS pLBSH e ewiBld R g uUbs0oTE HHol 12 S8 pLbH B e ysiteflenws eupbsi
SIMLHSHT6D a6 HBGHWD FHemg  eteiren?

(A) s (B) Osp& (C) se (D) Bupe
Ans - (B) G5B

20%2+301/3-151/6="?

(A) 35 2/3 (B) 17 ¥4 (C)182/3 (D) 20 %4
Ans - (A) 35 2/3

20%2+301/3-151/6="?

(A)352/3 (B) 17 Ya (C)18 2/3 (D) 20 ¥a
Ans - (A) 35 2/3

1/1.2.3 +1/2.3.4+1/3.45+ 1/4.5.6 is equal to

(A) 15/31 (B) 7/30 (C) 16/21 (D) 21/27
Ans - (B) 7/30

1/1.2.3 +%.3.4+1/3.45+%.5.6is equal to

(A) 15/31 (B) 7/30 (C) 16/21 (D) 21/27
Ans - (B) 7/30

In a bag there are coins of 25 p, 10 p and 5 p in the ratio of 1:2:3. If there are Rs.30 in all then the
number of 5 p coins are

(A) 200 (B) 30 (C) 150 (D) 250
Ans - (C) 150

Q® euullsd 25 ewusT, 10 eduUFT, 5 OUFT STHEDH6N 2 eilenen. SeuBPlen elSHLOT6IH
wpempBuw  1:2:3. ewuUled o 6item QoTHH STaH6Me H] .30 eleflsd emLufled o eitem 5
MUFT HTHB6IM6I  6T6v0T6m1 HEND

(A) 200 (B) 30 (C) 150 (D) 250

Ans - (C) 150

Ifab=5:9andb:c=4finda:b:c

(A) 20:36:63 (B) 15:25:60 (C) 10:18:45 (D) 6:18:54
Ans - (A) 20:36:63

a:b=5:9 wbwib b:c=4aafleva:b: ceemgl

12 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

44,

45,

46.

47.

(A) 20:36:63 (B) 15:25:60 (C) 10:18:45 (D) 6:18:54
Ans - (A) 20:36:63

Find the wrong number in the series :

2,9, 28, 65, 126, 216, 344.

(A) 2 (B) 28 (C) 65 (D) 216

Ans - (D) 216

Heteumd OHT_Msd Houpren elewiensnr Csitey OFUis.

2,9, 28, 65, 126, 216, 344.

(A) 2 (B) 28 (C) 65 (D) 216

Ans - (D) 216

If the side of an equilateral triangle is decreased by 20% its area is decreased by

(A) 42% (D) 216
(C) 34% (D) 20%
Ans - (D) 216

QM Fouss  (PECaTamHH @ UbBD  20%  GHMBHBULLTD  SIDUPSHBEHTeNT S 61
ugtiuenelsd gBUBD &Hsmme)]

(A) 42% (B) 36% (C) 34% (D) 20%
Ans - (D) 216

The area of a circle is 220 cm?, then the area of the square inscribed in the circle is
(A) 120 cm? (B) 140 cm? (C)135cm® (D) 250 cm?

Ans - (B) 140 cm?

QM QILLSHe ujliueme 220 &.05.5 sl Sieual HHBGH6T DML FHITHH6 LITLILISTE)]
(A) 120 5.65.18 (B) 140 5.05.18 (C) 135 #.05.18 (D) 250 #.05.18
Ans - (B) 140 5.05.8

Pulse polio Immunization programme was launched in India in

(A) 1995 (B) 2001 (C) 2003 (D) 1983
Ans - (A) 1995

usvery GuTeIBGwIT QFT (B Ww@mbH H LD RbHuirelsd OHTL MBS L e[
(A) 1995 (B) 2001 (C) 2003 (D) 1983
Ans - (A) 1995
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48. The least common multiple of 24, 36 and 40 is
(A) 340 (B) 360 (C) 230 (D) 400
Ans - (B) 360
24, 36, 40 e1etip  eTemidmeren 5FAM GUITHI DL BISTENSH]
(A) 340 (B) 360 (C) 230 (D) 400
Ans - (B) 360
49. Three numbers are in the ration 1:2:3 and their H.C.F is 12. The numbers are
(A) 4,8, 12 (B) 5, 10, 15 (C) 10,20,30 (D) 12, 24, 36
Ans - (D) 12, 24, 36
cpeiiml eTewissefle elldHD 1:2:3 wBEID SeuBplen 15.0L.60 12, elafled Dibd 6leuIHsT (LPewBELI
(A) 4,8, 12 (B) 5, 10, 15 (C) 10,20,30 (D) 12, 24, 36
Ans - (D) 12, 24, 36

50. Montreal protocol is related with
(A) Conservation of biodiversity (B) Protection of ozone layer
(C) Conservation of wildlife (D) Disaster Management

Ans - (B) Protection of ozone layer

oTeT_Mulsd 2 L 6TLIQEHma (LP60 UEMJ6EY -------------- 2 L6 QFHTLTLHL WG
(A) 2_uleOLILaIMEBEMID  LITGHIBTHBMED (B) @8amelii 2BHE& UTHIGTHSH0
(C) suctieNloumbi@ UITHIBTSHSH60 (D) GuiLit @osvmesitento

AnS - (B) @Bsmeil o1Bd@ LTHIBTHSH60

51, e is a collection of wires that facilitates data transmission from one computer to
another.

(A) Bandwidth (B) Channel (C) BUS (D) Router

Ans - (C) BUS

———————————— aeiiLB  HJe UFLLSHme0 @ Sewiefluledmbal, LBOBTHm  sefleldd  DiEIlD
sIDLserflen CHTEGIL.

(A) Sim6vdbBHBmM (B) L1b (C) um_emr (D) semaai
Ans - (C) um_enL
52. - refers to maintaining the accuracy of data through its entire life cycle.

(A) Data security (B) Robustness
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53.

54.

55.

(C) Data integrity (D) Data capture
Ans - (C) Data integrity

PG HIale GIBF (PWAIBHID BT HVEIWLSHMS HOOBDISSHIOIMS GBLLG! - AGLID.
(A) srey LTgIBTIL (B) sshiupemaniiy
(C) s16y @BmWLILTG (D) sr6y Mgy

Ans - (C) sre| @menwolium®

The Young’s modulus of Carbon Nanotubes (CNT) rages from
(A) 1.68t0 2 Tpa (B) 1.281t0 1.8 Tpa
(C)0.168t0 0.2 Tpa (D) 0.128 t0 0.18 Tpa
Ans - (B) 1.28 t0 1.8 Tpa

smiruer Gpeorm euginiesr (CNT) wbi @ewadhdei oL -----wmmm AGLD.
(A) 1.68t0 2 Tpa (B) 1.281t0 1.8 Tpa
(C)0.1681t0 0.2 Tpa (D) 0.128t0 0.18 Tpa

Ans - (B) 1.28 t0 1.8 Tpa

The telescope used for the research of supernovae is

(A) Hubble space telescope (B) Chandrasekar space telescope
(C) Hertzberg space telescop (D) Russel space telescope

Ans - (A) Hubble space telescope

el GeTemsvaieisiien GUETaiT (Lpaled LBPIW PUI6BEHSHGI LIWTLGD OFHTens0GHT U6
Quuwiir

(A) amiigsit eurednt COHTeneuBHTEHES (B) ba1@FasT euteit  QHmenevBHTaHE)
(C) Gamit_srouiTd eumer GHTene0BHTaHE) (D) gervervsd eumeit  QBHMenevGHTaHE)
Ans - (A) amiisit euredt GHTenevBHTEHS

The ratio of the intensity of magnetization to the applied magnetic field strength is known as
magnetic

(A) Susceptibility (B) Co-erivity (C) Retentivity (D) Permeability
Ans - (A) Susceptibility

BTHHITHEHF QFBaIBGH, OFasHII L  &SThHUF GafalB@gd SenL i L elésbd
eTENRIT DIEDLPSHSLILIBLD?

(A) gibusgmei (B) pébmid (C) Pewaey (D) ot yegmeai
Ans - (A) giugSme
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56.

o7.

58.

59.

The Ore, (CaC03.MgCOs) is known as

(A) Magnesite (B) Siderite (C) Dolomite (D) Calamine
Ans - (C) Dolomite

(CaCo03.MgCOQO3) stetiip &g &6 2 _eiemeuBpled 6hgh QUIWLITTEL SipfwItILIBE eimsaE)?
(A) Gusenenat (B) ArewyL (C) BLmevemioL (D) smevemiosit
Ans - (C) GLmevemior

Which of the following is used as an ingredient of cockroach repellant?

(A) Acetic acid (B) Boric acid (C) Oxalic Acid (D) Benzoic acid
Ans - (B) Boric acid

sruurest L& olgliguilsd gal (Bl QUT@EmeNTaS LWsTLIGD iolevd

(A) @18 196 Sideoid (B) Gumfisd owuflevid

(C) sydoromedss iflevid (D) QueiiBsmuls oisold

Ans - (B) Gurflés  oidsotb

Who introduced the binomial system for naming the plants?

(A) Adolf Engler (B) Carolus Linnaeus

(C) Dalton Hooker (D) George Bentham

Ans - (B) Carolus Linnaeus

STUIRISEHESH QM QFTBEUWRG (Wwevmsnw MlpsiuBGEHS e wimi?

(A) oLm60. .1 eTmIeTT (B) &Gymeverd 69Gemuierd

(C) LmeoLet1 aurasasit (D) mrirey GubBLD

(B) Ans - (B) s6rmeverd eGeuuierd

Match the following :

@) Thymosin 1. Control BMR

(b) Calcitonin 2. Muscle elasticity

©) Thyroxine 3. Maturation of T-Cell
(d) Relaxin 4. Regulation of minerals

@ (® (© (d)
A 4 1 2 3
(B) 3 4 1 2
C) 4 2 1 3
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60.

61.

62.

D) 2 3 4 1
Ans - (B) 3 4 1 2

SDHEMTL_IBEnB CUTHSHHIS :

() sngBomenis 1. BMR & Gur(®
(b) sreLAGLmesfe 2. HmF 6Mevsse0
(C) enggnaeisi 3. T-Gg6d eusnirad
(d) MevrésenSleir 4. BTGB UHTLBLILIGSHISHE0
@ ® @© @
A 4 1 2 3
(B) 3 4 1 2
© 4 2 1 3
D) 2 3 4 1
Ans - (B) 3 4 1 2

Diastole and Systole are generally of equal duration, each lasting about
(A) 0.2 sec (B) 0.4 sec (C) 0.5 sec (D) 0.6 sec
Ans - (B) 0.4 sec

L WervBLTevId, enflervBLTenid CumgieuTs @Gy &Flosmev Sienelsy Hewl CLMISIBEH.  euBmIei
@6UCEUTENSI6H  BTEVLDT 6 S

(A) 0.2 Qpmg (B) 0.4 Qpmg (C) 0.5 GBmg (D) 0.6 Qpmg
Ans - (B) 0.4 Gpmg

Krishnadevaraya belong to which dynasty

(A) Sangama dynasty (B) Aravidu dynasty
(C) Tuluva dynasty (D) Saluva dynasty
Ans - (C) Tuluva dynasty

HHOZTCHAUTTUWIT 61hFH GUDFHemGH BFTHSHaIT

(A) s aUDFID (B) ow5ei® subaid

(C) si6men aubFd (D) semeu eubaid

Ans - (C) glemer eubaid

What is AYSUSH?

(A) It is a cultural organization (B) It is a unit of Indian Defence system
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63.

64.

65.

(C) Itis a unit of ISRO (D) It is a Health care service scheme in our country
Ans - (D) It is a Health care service scheme in our country

AYUSH erstimmed  sredren?

(A) @31 @M SeOTFFTY BHxmIeI6D

(B) @& @pdw gramcusslsd @ Lifley

(C) @z @bsdw alamtaed symuiFd Boeusnssen (ISRO) @r Lifey

(D) @31 @M 2 160 Bood BGuemId BID BT Q6T @B HI LIOTGLD

Ans - (D) @& @ 2 L6d Beod Cuamid B BT @ &I _LIDTEID

Which of the following one recommended that the size of the Panchayat unit should be 1500 to
2000 heads of population?

(A) Balwant Rai Mehta Committee 1957

(B) Congress Village Panchayat Committee 1954
(C) Ashok Metha Committee

(D) National Development Council

Ans - (C) Ashok Metha Committee

LelTouhoueouBmIsiT 615 @M LEHFTWSSH 0B BHTEN  WEE6T OHTemsd o6y  1500-60
@mbaEI 2000-6@&6T QmBH Couswihd e16iml LMNHEHIDTHBHIH).

(A) usveupgd gmus GuwesT Gup 1957

(B) smmidlgerd Amo uehFTWHSH G 1954
(C) o816 BuwiHHT G

(D) BpAw uenitgd) 106518 &1

Ans - (C) 218F1d BudhsHT &1

The country with which Pakistan has signed a 1.7 billion deal to lay gas pipeline from Karachi to
Lahore

(A) Srilanka (B) China (C) Russia (D) India
Ans - (C) Russia

urslervgmest, &ITFAUII®HE  eoTamiT  auswguileomen  eifleumul  @GoTeOW  SBDESHID 1.7
WsvedwiesiignidbsTen @UUbBSLD CFuigh OQsmemi BTH 61gl7

(A) Sevrins (B) geun (C) raguwir (D) &bgwir
Ans - (C) gaguwir
Recently, the Central Government decided to implement GST in India. GST stands for What?
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66.

67.

68.

(A) Goods and Services Tax (B) General Sales Tax
(C) General Services Tax (D) Goods Sales Tax
Ans - (A) Goods and Services Tax

AW s  Sewemoulsd, GST-emw @pFHwimalsd mBOL(POBUILIGSHS (WLaBHHieT6nd?
GST erstiiugesr eflfleurdsid etesen?

(A) uewtLrissiT oBEID GFemeusmsit eufl (B) Qurg efBuenenassit eufl
(C) Qurgl Gsemsumeir surfl (D) uewi_rissit eBLeneidbsit oufl
Ans - (A) uewiLmisen wBEID CFemeussit e

Under whose chairmanship the Reserve Bank of India recently constituted a High powered
committee to study the urban cooperative banks?

(A) C.Rangarajan (B) Yashwant Sinha
(C) Rahuram Rajan (D) R.Gandhi
Ans - (D) R.Gandhi

Siewienouled fairel eumid] WMHHLW Henevenloullsd S BHTILB Fnl BB6Y CURISIHEMET LTI
QM 2 _WITLLLES GIpemel SITHHwH?

(A) C.yiusrmege (B) wergeubs S

(C) y@ymb greged (D) R. &g

Ans - (D) R. &g

Zilla parishads are responsible for development and maintenance of the

(A) International Highways (B) National Highways

(C) State Highways (D) District Roadways

Ans - (D) District Roadways

sdleveom LMFSEH eTaniig QHedr enenit&d wmpid ugmofiiBg QurpIiuTgLb
(A) #1185 OBHEHFTEMEVHEIT (B) Bl OBBEHFTene0H6IT
(C) wrHev CBGBEHFTEMEIBEIT (D) wreu’ L &rensvdssit
AnNs - (D) wrall L Freneodseit

Match the following :

List | (Atomic power station) List I (Places)
(a) Kota 1. Uttarpradesh
(b) Kalpakkam 2. Maharashtra
(c) Bhaba 3. Rajasthan
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69.

(b)

w A B~

(d) Narora
(@)
A 3
B 1
€ 2
) 3
Ans - (D)
OUTHEHS :
U iguisd |

SIEMIFHSD  HEN6OWIBIEHEIT

(@) Gam L

(b) seouTBSHLD

() umumr
(d) pBymygm
(@)
A 3
B 1
©C 2
D) 3
Ans - (D)

(b)

w b~ B~ B~ b

A N R N

N PN

Match the list | and list Il

(@) Imad Shahi dynasty
(b) Barid Shahi dynasty

List |

(c) Nizam Shahi dynasty

(d) Adil Shahi dynasty

(A)
(B)
(©)

(@)
4
2

4

(b)
2
3

3

(c)
3
4

2

N P W W N

(d)

N P W WD

(d)

4, Tamilnadu

uiguisd 11

GL_mhIFH6NT

—

. 2 A iyésai
2. LOABIITOQL [T
3. JTERervSTeN

4. H01PHTH

List 11

1. Bijapur

2. Ahmadnagar
3. Bidar

4. Berar
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D) 3 2 4 1
Ans - (C) 4 3 2 1

aflens | o Ler eufleng Il &3 QUTHSHIS :

U iguied | uiguieo 11
(@) s egran eIbFlD 1. 198squi
(b) ufg egTen eIbFID 2. SIBIDH| HBT
(c) Bagmbd agran eIbFiD 3. funf
(d) @u960 a@TON GUIDFID 4. 1Symit
@ ® @© @
(A) 4 2 3 1
(B) 2 3 4 1
(C) 4 3 2 1
(D) 3 2 4 1
Ans - (C) 4 3 2 1
70. The European country that was the first to establish trade relations with India in modern times
was
(A) Portugal (B) France (C) England (D) Denmark
Ans - (A) Portugal
Bole HTeLHHIL @bHWTe|L 6 elwruryd QHTLT Camemi (WwHev @|Grminiul BrH
(A) GuniTFamed (B) \gmesrerd (C) @mdeorhbal (D) QLetmomitas
ANs - (A) CuTFa®6d
71. In 1935, the first dance function of Mrs. Rukmani Arundel took place at
(A) The brahmo samaj meeting (B) The ramakrshna mission meeting
(C) Theosophical society meeting (D) Prarthana samaj meeting
Ans - (C) Theosophical society meeting
1935 60 &ogy). (e DiHeTERTCL 6060 (LpHeL BT lpwl HHWFSH HewL GUBB @@L 1D
(A) Gy &0y Fal LD (B) @ymodmadem 10agel dnl LD
(C) Wyib> @HTeN FeMLIG Fnl L LD (D) Mgt Hen FOMMEH Fal L LD
Ans - (C) rbp  gpmenr FemLid Fal LD
72. Swami Vivekananda was born in the year
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73.

74.

75.

(A) 1853 (B) 1865 (C) 1863 (D) 1873
Ans - (C) 1863

goumdl eNGousnenbsT LIBHs <UewiH?

(A) 1853 (B) 1865 (C) 1863 (D) 1873
Ans - (C) 1863

According to the recommendation of Balwant rai committee who should act as the Chairman of
the zila parishad

(A) MLA (B) MP (C) Village President (D) District Collector
Ans - (D) District Collector

ueLeubSITUI CdaT @uelst ufbsimyseisnr Ly eagdlsoeor Ufgsales Hemeveugms GaFulsoLL
Cousminiguisuir

(A) 61ib.6160.6] (B) erib.19

(C) ughaTUISE HemeveuT (D) wmeu’ L oyt &g g emeveui

Ans - (D) wreu L ey fdHHemeven

Mizoram became a full fledged state in

(A) 1956 (B) 1971 (C) 1987 (D) 1988
Ans - (C) 1987

WGHFTIL @ (W WIHeITS bHavH CUBB 66

(A) 1956 (B) 1971 (C) 1987 (D) 1988
Ans - (C) 1987

Match the following — choose the correct one :

(a) 7" Amendment 1. Increasing the age of retirement of high court judges from 60 to 62
(b) 12" Amendment 2. Including Pondicherry as a union territory

(c) 14™ Amendment 3. Reorganisation of states

(d) 15" Amendment 4. Including Goa as a union territory

@ ® @© @

A 3 4 2 1
B®) 1 2 3 4
C) 4 3 2 1
o) 2 3 1 4
Ans - (A) 3 4 2 1
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76.

77.

78.

LeitalmelstaBsns QuUTmHs Fhlwraraibens CHTHOHG :

(@) 7 ugl o1 HpHHD 1. e wipdHoss pHubseiesr @uie] QUDBID eiwemg 60
GGk

62 9F 2 WTHHWSH
(b) 12 sugl 1.1 HmSSD 2. umemng&@aM wyelwiesr LIT8HFIOTE BFTHBLILILL HI.
(c) 14 ougl o191 HBHHHID 3. LOTH6VRIGST OBIFTENLOLIL|
(d) 15 aug1 o191 Hmpssid 4. Gameur uyeilwiesr Ly8HFIOTE BFTHBLILILL Hl.
@ ® @© @

(A) 3 4 2 1
B 1 2 3 4
C) 4 3 2 1
(D) 2 3 1 4
Ans - (A) 3 4 2 1

Who was the Prime Minister Introduced the Lokpal Bill seventh time in the Parliament?
(A) Chandrasekaran (B) Deva Gowda

(C) A.B.Vajpayee (D) Dr.Manmohan Singh

Ans - (C) A.B.Vajpayee

GeomdLITeL  10BFTHTMO  LITFTEHIOSIBHHED  GJIOTOISH  (PdBUWTS  IBIpSILGSHHW Qb
gL wimir?

(A) B85 18FBIy60 (B) BmpeuG@menL

(C) g.19.eurgguimu (D) LréLit. weiGomsen Fbi

Ans - (C) g.19.eursguimu

Which one of the following Article deals with the Hindi as official language

(A) Article 356 (B) Article 370 (C) Article 360 (D) Article 343
Ans - (D) Article 343

Ueteu@pd 6ibg ailg afibilnw Signaisd Gomhuwirs imiss s amal.

(A) ol 356 (B) &) 370 (C) el 360 (D) ofg) 343
Ans - (D) g 343

The term “MIGA” refers to

(A) The Multinational Investment Guarantee Agency

(B) The Multi Indian Government Agency
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79.

80.

81.

(C) Migration of Government Agency

(D) Member In General Association

Ans - (A) The Multinational Investment Guarantee Agency

“MIGA” st GFmsv 61HBE GUITBHSHID

(A) ueTBT (B (PSS G 2 BIFHS HL (PHMLD

(B) @bl LIPS Dijs (PHMLD

(C) aydlenr @LUOUWITE] (IpHEMLD

(D) Qural slpahdHen o mirnlerr

ANs - (A) uaTBT. G (PSS G 2 mIFHH S L (PHMLD

Who of the following is the final authority to approve the five year plans?

(A) The Parliament (B) The Planning Commission

(C) The Finance Commission (D) National Development Council

Ans - (D) National Development Council

LsTeuLaIeDIeN WITT bHTewniB SH L RISmeT QBIHUITE HBISHMNES (Wigub?

(A) umgTEpLoaBLD (B) &' Lé@&p
(C) mossw (D) Bxpdlw suenitddl &g

Ans - (D) Badwr susnitdd) @&ap

When was the National Development Council was set up?

(A) 3" March 1951 (B) 2" June 1952

(C) 6™ Aug 1952 (D) 5™ Dec 1953

Ans - (C) 6™ Aug 1952

Cadlw suenidd Gapwd sILIGUTINSH AFDLINSSLIL L FI?
(A) 3 wmitg 1951 (B) 2 o8ei1 1952

(C) 6" symavr. 1952 (D) 5&ibuir 1953

Ans - (C) 6" symeror. 1952

Which of them is caused as social overheads?

(A) Health hygiene and education (B) Science and technology and education

(C) Science and technology and communication (D) Education, transport and banking

Ans - (A) Health hygiene and education

RauBplled 61enGH Fepd DUFIWILOTETENEUHET 6160 DGHLPLILIT
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82.

83.

(A) 2uBrThduID, HSTHTID WHBBID Hev6

(B) @melwed wBmid O mfeomi LD woBpIDd &Heve

(C) aelwed WwHBEID O&HTH6L HI LD WBEBID HHeusd GHTHEOHI LID
(D) ®ovel, GuTHGaugHSI WHBEBID eumEulwIed

ANS - (A) uByréduwid, &HTSHTID WBHDID &evel

Which Charter Act gave Rupees one lakh every year for the development education in India?
(A) Charter Act — 1833 (B) Charter Act — 1813

(C) Charter Act — 1793 (D) Charter Act — 1853

Ans - (B) Charter Act — 1813

s ULLWEF FULID GhsHwmelsd @evel GbUTl 9BHTEs @aIOeITH SLediBD  aHUTU @
BV FID PHIHBS aIPNGHHHH!?

(A) uLwFs L — 1833 (B) uLw&g Lip— 1813
(C) urwsg b —1793 (D) u LwFs Lib— 1853
Ans - (B) ulLwigFg Lip— 1813

Match the following :

(a) Nana Saheb 1. Bihar

(b) Begum Hazrat Mahal 2. Barrakpore

(c) Kunwar Singh 3. Kanpur

(d) Mangal pandey 4. Lucknow
@ ® @© @

(A) 3 4 2 1

(B) 4 3 2 1

© 3 1 4 2

(D) 3 4 1 2

Ans - (D) 3 4 1 2

BHIPSHHEMTL_IBHB CLITHHHIH :

(@) mmeoim FraL 1. e

(b) Gusld amerdys LOBMEL 2. LIFmasLyT
(c) @eiteu A 3. &Iyt
(d) wiieseir LimamIGL 4. 60&Georm

@ ® @© @
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84.

85.

86.

87.

A) 3 4 2 1
(B) 4 3 2 1
€ 3 1 4 2
D) 3 4 1 2
Ans - (D) 3 4 1 2

If x *y = x* + y* — xy then the value of 9 * 11 is

(A) 103 (B) 112 (C) 127 (D) 200

Ans - (A) 103

X*y=x2+y’ —xy eiaflso 0f 9 * 11 -ai1 gy

(A) 103 (B) 112 (C) 127 (D) 200

Ans - (A) 103

The average of the non zero number and its square is five times the number, then the number is
(A9 (B) 10 7 (D)6

Ans-(A)9

@@ LMIUILDD60T 6T6iTeIlD DUH6 alTSEHH6  FIrgf DibH elewienlledl MbH  OLMISBE
gD 66060 Db 616000

A)9 (B) 10 ©c7 (D) 6
Ans - (A) 9

Find the wrong number in the series :

10, 14, 28, 32, 64, 68, 132

(A) 32 (B) 132 (C)14 (D) 10
Ans - (B) 132

eirelmd Qpmfled sHeummen etewl CHite) CFuIsH :

10, 14, 28, 32, 64, 68, 132

(A) 32 (B) 132 (C) 14 (D) 10

Ans - (B) 132

3/ 7 of 497 / 249 of ? = 639

(A) 474 (B) 774 (C) 477 (D) 747
Ans - (D) 747

@ elewiewilent 497 /249 1oL mided 3/ 7 woLmig 639 eledlled DieCeiewT?
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88.

89.

90.

91.

92.

(A) 474 (B) 774 (C) 477 (D) 747
Ans - (D) 747

If length and breadth of a rectangle became half and double respectively, then what will be the %
increase in resultant are?

(A) 0% (B) 55% (C) 75% (D) 80%
Ans - (A) 0%

R OF6UUBHH0 HeMD WBBID DIHeVD (PewBOUl LTg oBpId SYHIOLhIE 6ler Wrmid Gurg
UFlILeTeled gBUL Sanigll MWD FHeIHID Wirg?

(A) 0% (B) 55% (C) 75% (D) 80%
Ans - (A) 0%

‘A’ does a work in 10 days and ‘B’ does the same work in 15 days, In how many days they
together will do the same work?

(A) 5 days (B) 6 days (C) 8 days (D) 4 days
Ans - (B) 6 days

A @n Gousmevemws 10 BT &6flsd (PSEBTT 465 Gousmsvenw B 15 priseflsy (wigdbdmi.
Qe CumD @By Gousmevenul (LPIYH@GID HTED iGN

(A) 5 B el (B) 6 mim_sei (C) 8 pi_seir (D) 4 miri_ssit
Ans - (B) 6 mr_seit
Simplify : 4 -[6-{12-(10-8 + 6)}]

(A) 4 (B) 2 (O (D)8
Ans - (B) 2

shEGS : 4—[6—{12—-(10-8 + 6)}]

(A) 4 (B) 2 €6 (D)8
Ans - (B) 2

‘Clerk’ is related to ‘office’ with the same way as ‘servant’ is related to?
(A) House (B) Boss (C) Master (D) Order
Ans - (A) House

’

‘GIIDSSTWIT 61608 UTTHMBHG OHTLILDLW GCFTsd ‘Sigvieususld’ DHIBUmed  Bousmevwmeit
6160 UTTHMHHE OCHTLTLemL W GFT6L 6l6dTen?

(A) ol (B) Gpmflsv pgsveu (C) argromein (D) 2370
Ans - (A) of®
Find out the missing term in the series 42, 30, ----------- , 12, 6.
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93.

94.

95.

96.

(A) 18 (B) 20 (C) 19 (D) 21

Ans - (B) 20

42, 30, ----------- , 12, 6. a166ip QHTLMed eNBULL L 6T60I6H6NT  HIT60I.
(A) 18 (B) 20 (C) 19 (D) 21

Ans - (B) 20

One side of a rectangular field is 15 m and one of its diagonals is 17 m, then area of the field is
(A) 32 m? (B) 120 m* (C)2m? (D) 60 m?
Ans - (B) 120 m?

OF6ioud ellged HeVHHH @ LHBD 15 15 W1BBID DG @ cpswsv el Lid 17 15, slefled
Blevsh et LILILIeT6)

(A) 32 16 (B) 120 152 (C) 2 87 (D) 60 152
Ans - (B) 120 18°

In how many years will a sum of money double itself at 12% per annum?
(A) 4 years 2 months (B) 5 years 6 months

(C) 8 year 4 months (D) 9 year 2 Months

Ans - (C) 8 year 4 months

eWhHEG 12 ey eaisbug, @M SHUILL  OsTemswtaid  Srlglusnluwl  6BHHIH
OsTeiTEmHID 2,651 (H 6N

(A) 4 s1emB 2 THHBIB6IT (B) 5 sy 6 ongmisme

(C) 8 oot 4 wonHmimeit (D) 9 suemip 2 oTHHIBSIT

Ans - (C) 8 syewiy 4 omHmib6iT

What sum of money will amount to Rs. 2,704 in 2 years at 4 % C.1.?

(A) Rs. 2,000 (B) Rs.2,200 (C) Rs.2,500 (D) Rs.1,800

Ans - (C) Rs.2,500

Brewi® QUBHLBIBEHEGH 4 % i B euliguisd eTeleuene) Lswid OFsbhdHerTed ep 2,704
HemL_bH@HID?

(A) . 2,000 (B) @5.2,200 (C) @.2,500 (D) tm.1,800

Ans - (C) @.2,500

The number of bits that a computer can process at any one time is called ------------- size

(A) Bit (B) Byte (C) Word (D) Sentence

Ans - (C) Word
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97.

98.

99.

100.

M sollend @@ CHISHHL QFWOLGSHS (WuD LI &6iT sremiemllbend ------------ SI6NT6) PGLD
(A) 1 (BIt) (B) smui (Byte) (C) Qamev (D) aurf

Ans - (C) Qzmed

When NOTA option was introduced in elections?

(A) 2012 (B) 2013 (C) 2014 (D) 2010

Ans - (C) 2014

BxTmHedsy GHTLLT (NOTA) (pedB SMI(PSILGHSILL L 6016

(A) 2012 (B) 2013 (C) 2014 (D) 2010

Ans - (C) 2014

The Western Ghats is known as Sahyadri which means

(A) ldeal place (B) Holy hill (C) Facing the sea (D) Worship Place
Ans - (C) Facing the sea

CuoB@ Wwemevdh QHTLITEIH wFWIST eTanad PWLLGHOBH A6 CLITHEMTaI S

(A) sanbgieuomer GL b (B) ueils wemev

(C) sLemev BEHTEHE (D) smflum’ B Heoid

Ans - (C) sLenev BETéHa

Who visualized the earth was a floating sphere on the sea?

(A) Romans (B) Greeks (C) Egyptians (D) Indians

Ans - (C) Egyptians

L, &Leded WHSGID @@ GHmerid elen HHIBIUWIGUTHET WITT?

(A) Gymomelwireseit (B) &@ysamitamsin

(C) erdligwiitaseit (D) @pswirassit

Ans - (C) erdligswiassit

Where was the first flood forecasting station was set up in India?

(A) Kolkatta (B) Chennai (C) Bhuvaneswar (D) Delhi
Ans - (D) Delhi

@bgHuwimelsy Geueitem (erspsleiiiL] HewsOUID (LPFH6TT (PHedled 6ThIGH DHeMIDSHHLILIL L &HI7
(A) Q&revssHHT (B) Qaeitemen (C) yeuBsmerveuit (D) GLsved
Ans - (D) GLsved
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